C:h Subtraction Using Open Number Lines Name:
Solve each problem. Answers

1) 92,628-84,635=

« e ° ° ° ° o » »

2) 28255 - 27,053 =

< ® @ ® @ ® >

3 36,706 - 11,215 =

< ® ® ® ® ® *—>

4) 96,262 - 61,077 =

< ® @ ® @ ® >

5) 72549 - 39,050 =

< ® @ ® L >

6) 96,949 - 62,588 =

< ® @ L ® L *—>»

7) 17,963- 17,643 =

< ® @ L ® L *—>
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Subtraction Using Open Number Lines Name:. Answer Key
Solve each problem. Answers
1) } =
92,628 - 84,635 . 7,993
7.993 7.998 8028 8628 12628 92,628
< > 2 1,202
5 -30 -600 -4,000 -80,000
s 25491
2) 28255 - 27,053 =
4, 35,185
1,202 1,205 1,255 8,255 28,255
< > s 33,499
-3 -50 -7,000 -20,000
6. 34,361
3 36,706 - 11,215 =
25491 25496 25506 25,706 26,706 36,706 ! 320
< >
5 -10 -200 -1,000 -10,000
4) 96,262 - 61,077 =
35,185 35,192 35,262 36,262 96,262
< g
7 -70 -1,000 -60,000
5) 72549 - 39,050 =
33,499 33,549 42 549 72.549
< >
-50 -9,000 -30,000
6) 96,949 - 62,588 =
34361 34369 34449 34949 36949 96,949
< g
-8 -80 -500 -2,000 -60,000
7) 17,963- 17,643 =
320 323 363 963 7963 17,963
< >
-3 -40 -600 -7,000 -10,000
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C:h Subtraction Using Open Number Lines Name:

Solve each problem. ANnswers
7,993 35,185 33,499 320
34,361 25,491 1,202 1
1) 92,628-84,635= 2
< ® ® ® ® ® *—>» 3.

2) 28255 - 27,053 =

<4 @ @ @ @ @ > 6
3) 36.706- 11,215 = &
< @ @ @ @ @ @ | g

4) 96,262 - 61,077 =

< ® @ ® @ ® >

% 72,549 - 39,050 =

< ® @ ® L >

6) 06,949 - 62,588 =

< ® @ L ® L *—>

7) 17.963-17,643 =

< ® @ L ® L *—>»
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